

Table 4. Bed Utilization by County, 2010

County Type of Beds/Facility	Licensed Beds	Inpatient Days	Admiss- ions	ALOS	Occup %	ADC
Hawaii County						
Medical/Surgical						
Hilo Medical Center	83	20,144	4,167	4.8	66.49	55.2
Kona Community Hospital	49	5,967	1,983	3.0	33.36	16.3
North Hawaii Community Hospital	30	4,278	1,208	3.5	39.07	11.7
Critical Care						
Hilo Medical Center	11	2,400	873	2.7	59.78	6.6
Kona Community Hospital	9	1,097	378	2.9	33.39	3.0
North Hawaii Community Hospital	4	830	307	2.7	56.85	2.3
Obstetric						
Hilo Medical Center	20	2,683	1,259	2.1	36.75	7.4
Kona Community Hospital	7	1,054	489	2.2	41.25	2.9
North Hawaii Community Hospital	5	1,314	714	1.8	72.00	3.6
Pediatric						
Hilo Medical Center	8					
Psychiatric (Psych)						
Hilo Medical Center	20	4,310	545	7.9	59.04	11.8
Kona Community Hospital	11	1,840	294	6.3	45.83	5.0
Acute/SNF						
Hale Ho'ola Hamakua	4	957	40	23.9	65.55	2.6
Ka'u Hospital	5	248	23	10.8	13.59	0.7
Kohala Hospital	4	595	18	33.1	40.75	1.6
Skilled Nursing (SNF)						
Hilo Medical Center	52	8,694	373	23.3	45.81	23.8

Table 4. Bed Utilization by County, 2010

County Type of Beds/Facility	Licensed Beds	Inpatient Days	Admiss- ions	ALOS	Occup %	ADC
Hawaii County						
Skilled Nursing (SNF)						
Kona Community Hospital	18	3,993	148	27.0	60.78	10.9
Intermediate Care (ICF)						
Hilo Medical Center	82	33,528	147	228.1	112.02	91.9
SNF/ICF						
Hale Anuenue Restorative Care Center	120	41,653	134	310.8	95.10	114.1
Hale Ho'ola Hamakua	46	16,020	55	291.3	95.41	43.9
Ka'u Hospital	16	5,507	16	344.2	94.30	15.1
Kohala Hospital	24	8,092	11	735.6	92.37	22.2
Life Care Center of Hilo	252	85,990	229	375.5	93.49	235.6
Life Care Center of Kona	94	33,145	97	341.7	96.60	90.8
Yukio Okutsu State Veterans Home – Hilo	95	31,435	168	187.1	90.66	86.1

Table 4. Bed Utilization by County, 2010

County Type of Beds/Facility	Licensed Beds	Inpatient Days	Admiss- ions	ALOS	Occup %	ADC
Honolulu County						
Medical/Surgical						
Castle Medical Center	111	21,388	4,490	4.8	52.79	58.6
Hawaii Medical Center East	166	12,308	2,491	4.9	20.31	33.7
Hawaii Medical Center West	90	15,461	3,337	4.6	47.07	42.4
Kahuku Medical Center	11	195	56	3.5	4.86	0.5
Kaiser Permanente Moanalua Medical Center	202	46,984	8,545	5.5	63.72	128.7
Kapiolani Medical Center – Pali Momi	108	35,773	6,081	5.9	90.75	98.0
Kapiolani Medical Center for Women and Children	36	2,864	995	2.9	21.80	7.8
Kuakini Medical Center & Geriatric Care	188	35,494	5,156	6.9	51.73	97.2
Straub Clinic & Hospital	140	33,340	5,545	6.0	65.24	91.3
The Queen's Medical Center	369	101,168	15,846	6.4	75.11	277.2
Wahiawa General Hospital	37					
Critical Care						
Castle Medical Center	8	1,828	438	4.2	62.60	5.0
Hawaii Medical Center East	22	2,254	439	5.1	28.07	6.2
Hawaii Medical Center West	12	2,679	910	2.9	61.16	7.3
Kaiser Permanente Moanalua Medical Center	20	5,104	510	10.0	69.92	14.0
Kapiolani Medical Center – Pali Momi	8	2,686	270	9.9	91.99	7.4
Kapiolani Medical Center for Women and Children	19	1,949	271	7.2	28.10	5.3
Kuakini Medical Center & Geriatric Care	24	3,894	531	7.3	44.45	10.7
Straub Clinic & Hospital	19	4,683	1,019	4.6	67.53	12.8

Table 4. Bed Utilization by County, 2010

County Type of Beds/Facility	Licensed Beds	Inpatient Days	Admiss- ions	ALOS	Occup %	ADC
Honolulu County						
Critical Care						
The Queen's Medical Center	48	12,582	2,141	5.9	71.82	34.5
Wahiawa General Hospital	6					
Obstetric						
Castle Medical Center	12	1,983	904	2.2	45.27	5.4
Kaiser Permanente Moanalua Medical Center	30	3,548	1,287	2.8	32.40	9.7
Kapiolani Medical Center for Women and Children	58	19,107	6,732	2.8	90.26	52.3
The Queen's Medical Center	25	6,097	2,537	2.4	66.82	16.7
Pediatric						
Kaiser Permanente Moanalua Medical Center	20	1,556	271	5.7	21.32	4.3
Kapiolani Medical Center for Women and Children	60	39,507	9,579	4.1	180.40	108.2
Neonatal ICU						
Kaiser Permanente Moanalua Medical Center	13	3,218	278	11.6	67.82	8.8
Kapiolani Medical Center for Women and Children	24	5,826	377	15.5	66.51	16.0
Psychiatric (Psych)						
Castle Medical Center	29	7,893	1,268	6.2	74.57	21.6
The Queen's Medical Center	63	9,568	1,342	7.1	41.61	26.2
Wahiawa General Hospital	10					
Acute/SNF						
Kahuku Medical Center	11	2,309	71	32.5	57.51	6.3

Table 4. Bed Utilization by County, 2010

County Type of Beds/Facility	Licensed Beds	Inpatient Days	Admiss- ions	ALOS	Occup %	ADC
Honolulu County						
Skilled Nursing (SNF)						
Hawaii Medical Center East	52	12,731	313	40.7	67.08	34.9
Kaiser Permanente Moanalua Medical Center	28	6,862	318	21.6	67.14	18.8
Kuakini Medical Center & Geriatric Care	40	9,728	224	43.4	66.63	26.7
The Queen's Medical Center	28	8,318	647	12.9	81.39	22.8
Intermediate Care (ICF)						
Crawford's Convalescent Home	55	5,890	4	1,472.5	29.34	16.1
Kuakini Medical Center & Geriatric Care	150	48,916	163	300.1	89.34	134.0
SNF/ICF						
Aloha Nursing & Rehab Centre	141	45,805	339	135.1	89.00	125.5
Ann Pearl Nursing Facility	104	35,665	298	119.7	93.95	97.7
Arcadia Retirement Residence	81	25,563	73	350.2	86.46	70.0
Avalon Care Center – Honolulu	108	37,887	270	140.3	96.11	103.8
Convalescent Center of Honolulu	182	62,847	222	283.1	94.61	172.2
Hale Ho Aloha	59	12,518	68	184.1	58.13	34.3
Hale Malamalama	40	14,525	23	631.5	99.49	39.8
Hale Nani Rehabilitation and Nursing Center	288	100,573	445	226.0	95.67	275.5
Hale Ola Kino	32	11,044	130	85.0	94.55	30.3
Harry and Jeanette Weinberg Care Center (Pohai Nani Care Center)	44	15,518	90	172.4	96.63	42.5
Island Nursing Home	42	14,756	24	614.8	96.26	40.4
Ka Punawai Ola – Kapolei	120	40,630	433	93.8	92.76	111.3
Kahala Nui Hi'olani Care Center	60	20,328	335	60.7	92.82	55.7

Table 4. Bed Utilization by County, 2010

County Type of Beds/Facility	Licensed Beds	Inpatient Days	Admiss- ions	ALOS	Occup %	ADC
Honolulu County						
SNF/ICF						
Kahuku Medical Center	10	3,650	5	730.0	100.00	10.0
Kulana Malama	30	9,984	34	293.6	91.18	27.4
Leahi Hospital	179	59,246	166	356.9	90.68	162.3
Leeward Integrated Health Services	93	30,220	171	176.7	89.03	82.8
Liliha Healthcare Center	92	33,271	95	350.2	99.08	91.2
Maluhia Hospital	158	54,612	140	390.1	94.70	149.6
Maunalani Nursing Center	100	35,527	207	171.6	97.33	97.3
Nuuanu Hale	75	27,100	82	330.5	99.00	74.2
Oahu Care Facility	82	29,413	82	358.7	98.27	80.6
Palolo Chinese Home	61	17,572	109	161.2	78.92	48.1
Pearl City Nursing Home	122	42,518	196	216.9	95.48	116.5
Wahiawa General Hospital	107					
Psychiatric (Spec.)						
Hawaii State Hospital	202	69,694	229	304.3	94.53	190.9
Kahi Mohala Hospital	88	22,392	1,509	14.8	69.71	61.3
Tuberculosis (TB)						
Leahi Hospital	9	210	4	52.5	6.39	0.6
Hansen's Disease						
Hale Mohalu (at Leahi Hospital)	14	2,135	62	34.4	41.78	5.8
Rehabilitation						
Rehabilitation Hospital of the Pacific	80	19,649	1,432	13.7	67.29	53.8
Children's Orthopedic						
Shriners Hospital for Children – Honolulu	24	3,328	614	5.4	37.99	9.1

Table 4. Bed Utilization by County, 2010

County Type of Beds/Facility	Licensed Beds	Inpatient Days	Admiss- ions	ALOS	Occup %	ADC
Honolulu County						
Other: STF						
Bobby Benson Center	28	7,517	58	129.6	73.55	20.6
Habilitat	150	41,975	100	419.8	76.67	115.0
Hina Mauka	48	23,805	529	45.0	135.87	65.2
Ho'omau Ke Ola	16	5,514	111	49.7	94.42	15.1
Po'ailani Dual Diagnosis	32	6,295	128	49.2	53.90	17.2
The Salvation Army Addiction Treatment Services	66	17,231	866	19.9	71.53	47.2
The Salvation Army Family Treatment Services	42					

Table 4. Bed Utilization by County, 2010

County Type of Beds/Facility	Licensed Beds	Inpatient Days	Admiss- ions	ALOS	Occup %	ADC
Kauai County						
Medical/Surgical						
Kauai Veterans Memorial Hospital	9	1,800	550	3.3	54.79	4.9
Samuel Mahelona Memorial Hospital	5	31	12	2.6	1.70	0.1
Wilcox Memorial Hospital	59	13,981	3,003	4.7	64.92	38.3
Critical Care						
Kauai Veterans Memorial Hospital	2	314	125	2.5	43.01	0.9
Wilcox Memorial Hospital	7	1,673	51	32.8	65.48	4.6
Obstetric						
Kauai Veterans Memorial Hospital	4	592	235	2.5	40.55	1.6
Wilcox Memorial Hospital	5	1,332	562	2.4	72.99	3.6
Psychiatric (Psych)						
Samuel Mahelona Memorial Hospital	9	1,721	206	8.4	52.39	4.7
Acute/SNF						
Kauai Veterans Memorial Hospital	10	1,550	216	7.2	42.47	4.2
Intermediate Care (ICF)						
Kauai Veterans Memorial Hospital	20	7,161	47	152.4	98.10	19.6
SNF/ICF						
Garden Isle Healthcare	109	37,222	314	118.5	93.56	102.0
Hale Kupuna Heritage Home	84	29,397	48	612.4	95.88	80.5
Kauai Care Center	38	13,856	12	1,154.7	99.90	38.0
Samuel Mahelona Memorial Hospital	66	3,103	52	59.7	12.88	8.5

Table 4. Bed Utilization by County, 2010

County Type of Beds/Facility	Licensed Beds	Inpatient Days	Admiss- ions	ALOS	Occup %	ADC
Maui County						
Medical/Surgical						
Lanai Community Hospital	4	23	14	1.6	1.58	0.1
Maui Memorial Medical Center	152	36,357	6,379	5.7	65.53	99.6
Molokai General Hospital	9	324	59	5.5	9.86	0.9
Critical Care						
Maui Memorial Medical Center	20	5,205	1,081	4.8	71.30	14.3
Obstetric						
Maui Memorial Medical Center	23	6,745	3,336	2.0	80.35	18.5
Molokai General Hospital	2	53	43	1.2	7.26	0.1
Psychiatric (Psych)						
Maui Memorial Medical Center	18	2,813	647	4.3	42.82	7.7
Acute/SNF						
Molokai General Hospital	2	286	13	22.0	39.18	0.8
SNF/ICF						
Hale Makua – Kahului	254	86,406	446	193.7	93.20	236.7
Hale Makua – Wailuku	124	41,456	102	406.4	91.60	113.6
Lanai Community Hospital	10	3,392	4	848.0	92.93	9.3
Molokai General Hospital	2	730	0		100.00	2.0
Hansen's Disease						
Kalaupapa Nursing Facility	16	522	1	522.0	8.94	1.4
Other: STF						
Aloha House	48	5,028	468	10.7	28.70	13.8
The Maui Farm	6	447	4	111.8	20.41	1.2

Table 4. Bed Utilization by County, 2010

County	Type of Beds/Facility	Licensed Beds	Inpatient Days	Admiss- ions	ALOS	Occup %	ADC
--------	-----------------------	------------------	-------------------	-----------------	------	---------	-----

A blank cell () indicates data not available.

Note: Kula Hospital (Maui County) and several substance-abuse treatment facilities did not report in time for this publication.